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Intermddiate Algebra Review for Exam 3
¢

1) Add,(5x*+ 2x —10) and (—6x” +3x =4
@ﬁ%m FCLx o)
=Xy Sy -1

2) Find thc sum of (3a + 6ab — 8b) and (—2a + 10ab — 6b = .
odd” @f@z o ¢ (34Z10ab-66)
LO +1bob -r4b J

3) Subtract (3x —10) from (7x* +x+ 15)
; > ot Qg
i Ay -10)
C—Uz + X+ 15) -

H‘D —-5/( +\10Q ——b\7X -8X fézg{

4) Subtract: (—=9x* + 4x + 1) — (6x* —=5x + 10
@@@@ 0
e ~(Sx*+ 9 & 5)

5) Multiply (x+5)ex 6)

XQ_,M +rsx-230 %m

6) Multiply (@) Qf ;
ox? 107781 -1S [ox L x- 15| |

7) Given f(x) = %xz + 4, evaluate f(10).

LOG) = :9—?(16)a+ q=\44]

8) Solve andchecl\@_ @ ll@E WM’
Cw; e qX S=N+X k= % 28y 78
C a(2)- <5+‘Ila) | Al)H™ %

g :2
3/? gii%—/ij%/ p
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9) Solve and check: —”(.1r5_\6a) .ﬁ}m) 9- _—__—.—6:) :—5(]3(«:’%) Hm
o - % 96\*\6' 5(!5’&1(,’” b o
= \’-{Ox\'\g §9 - ?_59 Vs
‘*\'S =) R
=2\0.=
10) Solve form: 3n —2m = 5‘% ﬁ‘ @
“3n A

-_m 56\0_@_ %Y‘

11) Solve for x: 2x+?ZY q(o\{
t?’* % - oy
S—— =
j Y - \ % - (o\i O,K:q,av
12) Solve torjo;;— =C.yp R
0-5=C0 g
v S
GecdorS)
13) Solve the system of equations and check: 2 -8y =4 M
9%~y 4 R Ax-BY =4
. - — —\ L(
Jx- B é\&ag 3 A 0B 2\ ?
- -
5’“ -?_E Y="1 vaxﬁiy“—l\
’%L(: & (-3,-V) T &S(lk)*“‘
14) Solve the syséiffq ations and check: 6xy+_10 < 7 puct
= -qx-&
(0 x ¥ VOV == bx +\0(8x-3) e )\//:gfs)-?\
b(%) Hg(:c?) -3 X+ A0X -gD=-3 Y -2 ‘\
Y=8x% B alX ':é@ :t—"b%_ﬂ
-3=aL») -8 \C /‘&;\j Jdlo X ':%%
az-av a('o\/:'.q
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10 SR

lS)gohelhesyslcm of equations and checkf{~4x 2}’—14-) _—-—-——-.CML
HOA +aby = -luo MG L_émx”yfq‘zs) TRAR
i =i - “q(-»)-93(-5)=
®- XFQ%\(— S R A 1'5( i,
- - ‘-\x TG 10X +71y = -5
V _,’;L/ - O Iy s ‘1\(/—33 -dS
He bt x- - -aS=-asv

16) Solve 'md gmph the solution. Write the aolullon in interval notation.
5(x —2) = 9x — 3(2x — 4)

5¥-\Q 2 Ax -lbx +\d o — AR
5%-10 2 3x+\a ¢ \io ' b

N s (KX .
X V(aerlD [\, o)

%x>&&

17) Solve and ;__raph 1he solutmn Write the solution in set-builder not'mon

%)&l)()ﬁmm (@%‘O)X )5(01) = (a -;X.) Z S

%’*2%.;,)«25 ~2-3x 210

18) Solve and graph the solution. Write the solution in interval notafion. -% x21a

X~ & : ~(d q |[4x — 9| < 27 =3
H ’2‘"?_6‘;_7 ,(q;; )436\?\_’ x< -3
ps2e AT s g =0
x <1 A L0 @ 9

19) Given f(x) = 2x — 1 and g(x) = 2x% — 3x lmd g(f(x)
J (ax-1y2; 3(ax-1)
A (dx*-gx ;,14:;) -3¢
@)&a-—gl\-l'g,"(g)(-\’% ->8>(g- 4 x4S
20)If f(x) =x*—1and g(x) -—2x+5 find f(g(x))

-
) (2 s
@ (ﬁi i?ozuox vS ) -
L x?+ AOX +5—|

Hx2+ra0xrYy

L_— Ya, '7-]3

Scanned by CamScanner



21) Given f(x) = 3x — 2 and g(x) = x* — 3 find g(f((2))

f(D=3)-2=¢
GuAd= 42 -3

2D f(x) = 2x — Land h(x) = x? + 1, find h(f(—4))
LAz (-1 -\ = -g
NCE-9) = D34 = R

23) Simplify: (=3a® + 5a + a — 13) —_(4a? — 24 + 6a — 2)
SO0, 1Sa%a-13 —L{c@@(@a + 3

T +Ja% . &q-))

24) Solve and graph the solution. Write the answer in interval notation. |2x » 3| > 1 (-‘00/ lj Y L-8 39
= ‘ /

Ax-3>] -(ax-3)> | & —
X224  TAdxr3 2| L
Ey b -3 o
s o T Ia(o)q;ilz/ [315)- 3,
= =Y Bl OX|
| X<y la(3y-3) 5 a
25) Solve and Check: —2(1 — 7y) = 8(y — 7) A2\ v

“Ardy = §y-5(

‘2+6V:'SQ
+ t 3
Ly=-5Y

—
-—

26)Solve: 8x + 16x — 12 = 24x — 16 + 4

D x -1 = QU x- 12
Moy gductions

.-
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